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TORFEIADOBEELBEKIC, A, B, C=BOEBLEB/ZENT 51 hd 1 BOFERSZRUIC
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BISHRDC 2 EHDDE, a1 DD by N218, by DD ai NE2BDIS1 b2 EZRT.
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TRI. CDLEE, BENLS ABNTLITER, CEBNS BENITLKTERZRITIZENEN R,
§&ETD. R S7ERHK. o, CENO BEZEBLT ABANIIOIERZRITIZRDHK.

[
- o o O
S O N

2016 £10819 8



ASFE |2

_I?é}
L3
Z
i)
i
an
3

P UAA

K&

b) A@EH5 BBEICTE, BBICBENS ABILRDHEZRITIZRDHL.

c) ABDLo BBEIC2FEETDREERITINERDHL.

d) ABHSSBBEICTE, EBBENS CEBICHTE, 2R CENO BEZRBLT ABICRDETD.
CDF BRI TN ERDSLK.
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1350 P, Q, R, S ZIRDEDICHL. INHDEAHEDEDDE, BHERCETDHESINTICDOL
T, TOBE=SEEL.
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In the Land of Oz they never have two nice days in a row. If they have a nice day, they are just
as likely to have snow as rain the next day. If they have snow (or rain), they have an even chance of
having the same the next day. If there is a change from snow or rain, only half of the time is this a

change to a nice day. Suppose ay, b,, ¢, are the probabilities that the nth day is a nice day, a snowy

day, or a rainy day, respectively.
a) Find the probability an41, but1, Cnt1-

b) Find the probability a,+2, bn+2, cn+2 using matrix multiplication.
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